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Uguwnphwihwu, Uidhpp' Lnp 2Gjwunhwihg:

2ph  hhduwfuunhpp  ubpywjnwu - wdbuwiu  upnEywdp £ npwd
Ubpdwynp Uplubiph Gpypubpnud, whphlywu dwypgwdwph  hjnwhuwphu W
hwpwywjhu opswuubpnud, YGUnpNUWywu UdbphYuwjnd:
Qnwdwwnwlwpwpdwu  hwpgp wnbwowh  F hwnuwbu  qupgqugnn
Gpypubpnwi:  Wuwnbn  puwlsnigywt onipg - 90%-p wwwhnywd sk
opwdwwnwlwpwpdwu gwugny U hwbwu unhwyywsd k oguinwgnpdtp wunpwy,
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wwhwuop fuhuwn Ywybjwuw:
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2nipp opquuwywu  woluwphh  YbGpwpwwnpnigjwtu - wuhpwdbown
wwjdwup L dornwlwu nintyhgu £ Lpninpunp  oyyphwunuubiph,  dnytiph,
gbinbiph, [@bph, uwngwnwowbph, uwnpbpypw W dJdEUniNpwhU  opbiph
wdpnnonteiniut £: Oyyhwunuubiph W dnybiph punhwunip dwybpbup 2.5 wugqwd
gbipwqwugnw £ gwdwph dwybpbuhu: OYyyhwunuubph optipp Swdynwd bu
Epypwaqunh dwytpunypeh 3/4-n:

2pninpuip,  dpuninpnh W pwpninpunp dhol dhowityw  wbin
gpwntgutiny, npwug htwn guuynw £ dornmwywu thnfufuwuwyywdnyjwu dbe:
THw wpnwhwjndwu dh aut £ opwopowuwnnieiniut £, npp Ywpunp nbp &
fuwnnud Yuuninpuinid' unbindtbing wwydwuubp Yjwuph gnjunbdwu hwdwp:

2ptipu ppbug wupunhwui  opowwwnnynp - gunphhy  guuynd  Gu
donwlywu  hnfujuwywdnigjwu  dby, npu wpunwhwjnynd £ hbGnlyw
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wugub] Jpnwht’ wnwowgubiind gbiwnwihu  hnup, uwnpbpypw L hnnwjhu
dhowywjptipnid 9ph 2wndnid:

2ph  opowwwnnynh  thwly  hwdwlwpgnd  dwutwygnd - Gu
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2nswwyinnyunhtu dwutwygnud Gu bwl unnpbpypyw b hnnwagpniuwnwhu onptipp:
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2nh 2npowwiinywnp opninpunh pwgwnhy wnwuduwhwwnynyeniuu k:

Puwysnipjwu  pYwpwuwyh wybjugdwu U wpryniiwpbpniejwu
qupgwgdwu  hbwn  dwpnyniegniup dGd  dwuunwpubpng - YGpwihnfubig
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88
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Uwpnnt hwdwp opwywu wuhpwdton £ 2-6,5) fudbint onip: Uwlwju dwpnip
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tnwd wnhpwjhu dnnhlubph wnlwnyeiniup, npnup Ywu pE dwpnywug b pE
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Unnuwy 1.
2pninpwnh dwywip
2nninpuinh pwnwnphsubipp 2ph dwywp, hwg. | % pun  punh.
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Cwdwpfuwphwiht oyyhwunu 1370323 93.96
Uwnnpbpypjw optip 60000 4.12
Wn pynid wyinhy spwwinnywnh gninnd 4000 0.27
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<nnh funuwyniejntu 85 0.006
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Qbiwnbiph opbip 1.2 0.000t1
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Utd opowuwnnigniuu hp dbe pungpynud £ Gpypwagunh  dhonyh
wwwnpubph  dbe  wwpniuwyynn phdpwwbu  uwywd optiph  dh  dwuhp
wnwuduwgnup U wqwwu oph wuowwnuwip hpwpfuwihu  gnpdniubinyejwu
pupwgpntd: Ujnw onwlyp uunjwdpwihu wwwputiph dp dwuh ubipgpwynwiu £
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Unipwihnfuwuwynigjwu  gnpdpupwgnd:  “Hw  hbtwbwupny wnwowgb| L
Lwdwfuwphwihtu oyyhwunup:

2pninpinu hp dwywiny qpwnbtgund £ Gpypwgunh dwdwih 13%-p,
wyuphupt'  upw  Swlwip hwqupbpnpnwlwu  Jdwuhg  ginpp-hus  wybih:
Gpypwywqiwywu  gnpdpupwgubpnud  uluby £ duwynpyb) 2tpunwynpynn
Yuwaqdywdp: Uytih plipl wwwputipp pwpdpwgt) Gu dbp L Ywqdty Gpyph
ytnup, puy wybh funp 2tipnbpnd nwuwynpgt] Gu wuhwdbdwwn  dwup
wwuwnpubpp'  Ywquibind  Gpypph  dhonyp:  Cwwn  wwwpubpph  ubndygbint
htwnbwupny npwug dby btnwd onipp nnipu £ dnyb, wnbinwhnfudtp Gpyph
dwytipbiu U Spyph Ytnup ypw Guwdnpyty £ opninpunp: Gpyph dhoniynid
gwuynn opp dnunwynp pwuwyp Ywqdnwd £ 15-20 dpn Yo3, wjupupt’ 10-15
wugqwd wybh £ opninpinp punhwunyp dwywihg: &ph hnupp dhontyhg nbiwh
opninpwn inbinh £ nwbund twb wydd nmwpbywu dnin 1 Yd® dwywiny: Cuwn
hwowplubpp' 4 djpn wmwph wnwye opninpunp dwywp tinbp £ 20 Jju yus, 7000
wugwd wwlywu ubplywihu dwywihg: pninpinh dwywp ubiplw Yyhdwynwd
Gupwpyynud £ sushtu thnthnfunipjw:

2nipp hwunhuwund | puwlywu suywnynn nbiunipu hwdwgfuwphwjhu
dwuownwpny, pwuh np npw punhwunip pwuwyp dninpwyh ypw ywhwywuynwd
E hwuwmwuwniu opwopowuwnnipjwdp oyyhwunutbiph, deuninpunp W gwdwph
dholu:

Gpyph opninpuinh 97,5%-p Yuqunw £ <wdwtuwphwihtu oyyhwunuh wnh
onipp, unnpbipypjw hwupwjuwgywd b wnh [GGph optipp: Lwngpwhwd opbipp
Ywqunud Gu 2,5% (35 diu Yud): Uwngwnwonmbpp L Guu wwly gunuynn
uwnnygubpp Yuqgdnud Gu dnuin 24,4 dju Yd onip, huy 10,5 dju Ydd-p gunuygnud k
gbwnup wwyh opwwnwp bpnbpnd, uwlwiu npwughg dhwjiu 4 Jdiu yid-u k
opwihnfuwtuwydwu wywnhy gnunnwd: Lwngnpwhwd onptipnp gunuynid Gu 150-2004
funpnigyniutipnd, npnup  onipg 100 wuqwd 2w Gu  dwybpbuwihu
pwngpuwhwd ontiphg:

Uwytiptuwhu onpbiph  pwofuwédnipyniup  hGwnwu L. pwngpwhwd
[6pp' 91 hwq. Yu3, Gwhpdubpp' 11,5 hwq. Y3, gbwnbpphup' 2,1 hwq. Ydas:
Uuhwdbdwwn dbé £ hnnuagpniunp funuwydniuwynegyniup' 16,5 hwqg. Yd3, npp
nbnwpwtujws k gptipt ytiphu 2 d otipinnid:
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Upuninpuinud Y 12,9 hwg. Yd onip' gnnpohubiph  wbupny:
Udtuwfunuwy onp quuynd £ wplwnwpdwhu W dbGpédwplwnwpdwihu
gnhuihubipnud:

Ytunwuhutiph L pnyutiph dbg oph wwpniuwynyeniup Ywqunw £ hpbiug
quugywdh dnwn 80% -p, npp Yngynud £ Yauuwpwuwlwu onip b hwdwuwp £ 1,1
hwq. Yus:

Lwngnpwhwd oph jnipwhwunny wwhbunwpwu £ Pwjyw |hép, npp 1
wugqwd wybh k, pwu wofuwphp pninp gbivbph onipp dhwupt (23 hwgq. Yu3):
Wn [6h wdbuwdbd funpnieiniup Yuqdnd E 17414:

Gpypwgunh  dwybpunyphg gnnpwgdwu  punhwunp dwydwp
nwpblwu Yuqinw £ 577 hwq. Yu3, nphg 458 hwgq. Yud,unphg Ytipwnwnunu k
oyyhwunu, huy 119 hwq. Yu* guwdwph Yypw:

2nwihu dhowdwjpnud  Gu  wbnh  nwbund  Jh wpp  YhGuuwlwu
gnpdpupwgutin, phdhwywu wwpptiph dhgpughw: Uhwiu oph wnlwjniejwu
wwjdwuubpnd opgqwuhqunud Ywpnn GU wnbnh nwbuw|] pwpn nbwyghwubp:
Pnyup hnnhg Ywpnn k£ uuniun gbipgubip opp oqunigjwdp (npw dbe [ndywd
yhtwynul): &nipp Yuwpgwynpnw £ pnyubiph nu Yeunwuhubph dwpdhutbph,
huswtiu bwl hnnwjhu dhowywjph obipdwuwnhéwun:

Punyywu dbe onipp pwpn  thnfuhwpwpbpnyeiwu dbe £ guuynd
ytunwuh opqwuhqdubiph, pwpninpwnh ni duninpwnh htwn: Pninp Unyebinp ontp
GU wwpniuwynwd: Lnyuhuy unyeh gpbet pwgwpdwy snp pjnipbinukpu hptiug
dbo wwpniuwynw Gu phdhwwbiu uwywd onip: <wjjwd dwgdwu unyuwbu hp
dti9 12% onip £ ywpniuwynid:

2nipp Yhdw b Gnwuwly wnwowgunn Ywpunpwgnyu gnpdnu £, wn
nbuwybinhg hwwnny vpwuwynyentu nwubu dpuninpunh opwijhu gninpahubipp:
2nipp Ywpgwynpnwd £ wplp  Eubpghwind  wnwewgnn  phpdnnhuwdhy
ghpdpupwgutiph  nhpdp:  OYyphwunuubpu  nu ondtpu  hpbug  dGoé
otpdniuwynypjwu  ounphhy hwdwpynd Gu  obipdnigjwu  Ynunwyhsubp W
punniuwy Gu dnpnpwyp Yypw thnfubine Gnwuwyu ni Yihdwu:

2nipp Gpypwgunh ntiihtdp duwynpnn hhduwywu gnpdnuutiphg dtyu k:
Unwug oph Gpyhpp gnipy Yipubp W hnnwéwdlyhg, U dpuninpupg: Puniejwu
dbo opowuwnnigniu Ywwwpbind' wjiu Jwuuwygnd £ Gpypp dwybipunyeh
duwynpdwup: nipp pwjpwynud, nwdnwd b Ybpwihnfunwd £ wuopgquuwywu
ujnyetipp, uwywuwnnw tunywdpwiht wwwnubiph, hnnh wnweowgdwup: 2nipp
puwywu (wunawdwmubph wpniuu £, wnwug nph Upwup dbnwé quugywd
yhubiu:

2nipp  jupunn wuhpwdtignn £ wnunbuwlywu  gnpdniubnyeywu  pninp
puwqwywnubpnud: Upryniwwpbpnugniut wuhuwp £ ywwnybpwgub] wnwug
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opp: 2w wpuwnpnipjwu Jdh wjuwhuh 6nn, npwnbn 9nip soguwgnpdyh:
Unwug pwngpwhwd 9ph  wuhuwp £ unwuw| gbynynqu, pninp,
gnpdywdpbinbu, wnnuuww: LEpywynwu onipt £ npnond gyninuitnunbiuwywu
wnuwnpnuypjwl  punypUu nit hwonnniejntuutinp, wpwluwnpunwihu Ywwbiph
qupgwgnwit  wuhuwp £ wwwlbpwgub] wnwug o6ndwjhu ni glivwihu
Gppninhutiph: Undnpwpwp funpnp puwywdwptipp Yunnignd Gu - wjuwhup
qwyptipnwd, npuintin 9ph wwownubip Yw:

Funonp  gnpdwpwutbpp, $wpppywubpp, EGYunpwlwjwutbpp  JGd
pwuwyh onip Gu oguwgnpdnid: Lwodwd £, np 1 wn snigniu dnybnt Yud
wnnuww unwuwnt hwdwp wuhpwdbown £ 300 43 9nip, wynush hwdwnp' 500
d3, 1w nbwnhup wpnwnpnyejwu hwdwp' 3500 &3, 1 upyth hwdwp' 4000 43
onip:  Luluwywlwu  9nip £ ogquwgnpdynd  twl  thwjunwdwlydwu
wpryntuwpbpnyywu  dbg: Rnipp twbe  bGYunpwtutpghw  unwuwnt  tdwu
wnpjnip £:

Utd £ uwlb nnngiwu uwywwwyny ogunwgnpdynn oph pwuwyp: ULY
htywnwp Jowlwpnyubph nnngdwu hwdwp twpyw pupwgpnd dwiuuynid £ 12-
14 hwq.ud® onip, pun npnud* 1 gbunubip fuwnnnh pbpp unwuwnt hwdwn' 100-
12003, pwdpwybunt  hwdwp'  1200-130003, huy  hwgwhwwnhlwihu
dowlwpnyubiph hwdwp' 100-20043:

Ltipyuynwu: Ywplnpwgnyu fuunhp £ optipp tnwppbip: wnuininhsutinhg
(wGuwnhghnutiphg U penwwphdhlwwnubiphg, wwpwpwwynyebiphg, uwypehg U
twypwujnyetinhg) wwhwwubp: Lpwywquuutph U 9pwhnupbiph  wénn
wnununnw nhunynwd £ pninp wpryniuwpbpwywt Gpypubpned:

Uwpnnt Ynndhg onph oginwagnpdnuip wtivp £ Yuwnwpyh futwjnnupwn:
Wn  wbuwulyniuhg 9pwjhu  nbunipuubph  nwghnuw|  oguwgnpddwu
hhduwhwpgtipp tiptipu Gu.

1. onph Gpypnpnwjht oguwgnpdnid,

2. dwppdwu unp wbfuuninghwubph Yhpwnnid,

3. Juquwybpwswywu dhongwnnidubip:

2ph Gpypnpnwhu oguwagnndnidu wnryntuwpbpwywu
dtnuwpynyeyniuutipnd ppwlywuwgynd £ wnbjuuninghwlywu - wwppbip
ghpdpupwgutipnud:

Lhdhwywu  Eygnpbtipdhy  nbwyghwubph  wuglwgdwu  hwdwn,
(gnpépupwgubip, npnup  wpdwynwd  Gu  obipdnigyniu), wwhwugynd |
otpdnigjwt  hbnwgnd  (wwwpwwh uvwnbgnd, npnbn  win  nGwyghwu
pupwuntd k):

Lhdhwlwu  Lunnpbpdhy nbwyghwubph  wuglwgdwu  hwdwnp,
(gnpépupwgutbip, npnug dwdwuwy otpdnieniu £ Ywuynud), wwhwuoynd &
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otpdnipjwt  Jwwnwywpwpnud  (wwwpwwh  nwpwgnud):  Eygnebpdpy W
tunnpbtipdpy gnpdpupwgutiph  hwdwwnbndwu nbwpnwd uwnp 9nipp, npu
ognwagnndynid £ wnweoht wwwpwinnwd, nnipu £ quihu tnwpwgwd yhtwynid,
L wju Ywpbh £ ogquwgnpdti bpypnpn wwwpwwnnd wnwug [pugnighs
wmwpwgdwu: Ujuwhuny, onipp Yuwpbih £ ogquwgnpdti Gpypnpn wuqwd L
futwy b E|lGYwnpwtutipghw:

Lbpywynwu ~ Yppwnynud  Gu opp  dwppdwt dwdwuwlwyhg
wnbluuninghwubip ni dGpnnubp (bhghywphdhwlywu, YEuuwnbiuuninghwlw):

bhghywphvhwywu dbpnnubp Gu  nwnhwghnu, hnuwhnfuwuwyw)hu,
opuhnwybpwywugdwu W dwppdwu wy dbpnnubp:

Unyntuwly 2.
Unwuinuinnn Uniebiph Yuaqdp wpryniuwpbpwlwt hnupwenbipnid:
Unwnwnnn ujnebip <nupp wpfuwphp
dwupw. Jju.n/inwph

Lwypwujnyetp 26.563
bbtunjubp 0.460
Uhupbwhy phitph wpunwnpniejwu pwithnuubp 5.500
Pnwwlwu opquuwlwl duwgnpnutbp 0.170
Cunwdbup 33.273

Nwnhwghntu  dwppdwu dwdwuwly oguwgnpdynd Gu  hnuwgunn
dwnwquwyrutin, npnug wgagnbigniejwu wnwy pniuwynp Ynyebpp stgnpwgynid
Gu:

hnuwthnfuwuwywjhu dwppnwip pnyp £ wwihu ng dhwju onipp qbipd
wwhb] wnunnunwihg, wyl Gpypnpnwywu ogunuwgnpddwt uwwwmwyny $phiinptip
npn? pwulwpdtp phdhwlwu dhwgnyeniuubp: Wn dbennh  dwdwuwy
oginwgnpdnud  Gu  hnupwnubp  (Yuywiht  hwupwujnie,  duninpwuwwnpun,
hnuwthnjuwuwwihu futid), npnup dJdwutwygnud Gu wnunnhsubiph  hbwn
hnuwthnfuwtwywjhtu nbwyghwubipnid:

Uwppdwtu  opupnwybpwywugqdwtu dbpnnutpp  pnyp U wwihu
pniuwynp  Jdhwgnieniububpp  hnfuwppulp wybh ywlywu  Juwuwyuwp
ujnyetipny: <nupwonbiph dwppdwtu win dbennp wywjdwuwynpywd £ unyebipp
dté  Swiuuny U  ppwlwuwgynd £ wju  nbwpnd, btpp  Juwuguwynp
pniuwphdhlwwnutpp 2w nddwp Lt hGnwgub]  hnupwonptiphg — wy
Gnwuwyubpny:
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2pp  wpyniuwybn  oqunwgnpédwyu  dhongwnnidubipp: dYbipinwdting
oph wwowpubph W 9opninpuph hhduwywu pwnwnphs dwubiph wnunundwu
hwpwénu  wbdwbph  Ybpwpbpuw| bGnwd hujwjwywu  wnbntYynyeniuubpp’
dwpnynyeyntup  dhongubip £ npnunwd wyn wnuinunnwubpp Ywufubine jud
Juwuwqbipdtint ninnnypjwdp:

dbipoht dwdwuwyubipu thnpébip Gu Yuwwnpynw ény pwihywd twypep
Juwuwqgbipdti qwuwqwu phdhwlwu unyebph  dhongny: UdGuwhnwwih
dapnnutphg £ hgnp wndwbtpph oqunipjudp ondh dJwybtiptiuphg uwypeh
hwywpnudp: Uugihwghubiphu hweonnynud t bty dwdnwd dnyhg hwywpti| wybih
pwt 100 n uwype, U hnwny Gu, np 2nunny wyn dbpnnny Ywnpnn Gu hwub 100
dju. v bwyp dbYy nwpnud:

2nwihtu  nbunipuubph  Wwhwwunyejwu  wdbuwhnwwh L Yuwplnp
dhongn  wpryniuwpbpwlywu  dGnuwpynyeyniutbpnd - wbjuuninghwywu
gnhpdpupwgutiph  pwpbjwynwit nt Yuwwwpbjwugnpdnuwiu £ Uuhpwdbiogn £
glitnbiphg ybpgwsd onipp wnuinuinybinig htiinn dwppbip bW Ypyhu oguwgnpdti,
npp UtGd Yhpwnnipniu k gt ytipphtu 30-40 wnmwphubph pupwgpnd:

Ubp punnwuwphw| nwpnud, Gpp pwihnuutiph pwuwyu wuuwpwanbh
swihtph £ hwub), wnwe £ Gyt hnunn optiph dwppdwu W oguwgnpddwu
wuhpwdtipunieiniu:

<nunn optiph dwppdwu dbpnnubpp pwdwuynd Gu bpbp fudph. w)
dafuwupywywu, p) $hghywphdhwywu U q) Yuuwpwuwlwu: Uwppdwl wju
Ywd wju dbennh Yhpwnnwp Ywfudws £ optiph wnuinindwu punyphg W npw
dbig tinwd fuwnunipnubiph Juwuwwpnipniuhg:

UbluwuhywYwu dbennh Enigyniut wyu k£, np uunbgdwu Yud $hjinpdwu
twuwwwnphny hnunn 9phg wuowwnud  Gu JbGjuwuhjuywu quuwquu
fuwnuntpnutipp:

<nunn  optiphg  bhghywphdhwlywu  dbennny  hbnwgund  Gu
dwupwnhuwbpu b ndywd hwupwihtu fuwnunipnubipp, huswbiv bwb pwjpwjnwd
Gu opqwuwlywu Unebpp: Wu ptwgwywnnd jwjiu Yhpwnnipiniu £ unwgh
EilGlwpnihgp:

YGUuwpwuwlwu dbpnnh dwdwuwy Yhpwnynw Gu YGuuwphdhwlwu
nt $hghninghwywu huptwdwppdwu nwuwyubip: Lwju nwwpwdénud Gu unwgtip
twb  YbGuuwbhpnpbpp,  YGUuwpwuwlwu  opwdpwpubph  unbinddwu
Gnwuwyubpp:  YGUuwpwuwlwu dGpnnubpp  (wy wpryniup G wwihu
yeugwnwyihu L Yndniuw| hnupweoptiph dwppdwu dwdwuwy:

Nnngnwip pwpép  pbpph  unwgdwu  Ywplnpwgnyu gnpdnu  L:
Cwjwuwnwuh  onwihtu nbunipuubiph dnin 30%-p oguwgnpdynd £ hnnbipp
nnngbiint hwdwp: Uwlwju wn optipt wpryntuwytivn s6U ogunnwgnpdynid:
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Nnngdwu 9opbiph  juuwnnnuejwu  hwpgnwd  Ywplunp  dhongunnd  k
hwdwpynwd  thwy funnnuyubpny L uwnnpgbnujw  nnngdwu  gwugbiph
Ywnnignudp, huswbu  twb  Gupwhnnwjhtu  nnngnwip  gwdwpnipnwihu
hwdwywpgbiph dhongny: Nnngiwu wpnyniuwybinn Gnwuwy £ twl Yuehjwhu
nnngnuip:

Pwiwih pwnbp’  Spninpy, oph gpowwyippnyy,  Jwlhbpbuwghti U
uppnplipypyw opbip, nnngnud:
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MAJOR ISSUES OF THE EFFECTIVE USE AND REPRODUCTION OF WATER
RESOURCES
AVAGYAN MARTIN
Doctor of Agricultural Sciences, Professor of GSU
Dean of the Faculty of Natural Scineces of GSU

Water is the most common inorganic compound on Earth. As a result of
constant circulation, waters are interconnected according to the following system:
ocean- atmosphere - land - ocean. Due to the constant circulation the waters of the
oceans are interconnected.

On a global scale, large and small water circulations are distinguished. Water
is a key factor determining the climate and weather, regulating not only the water
cycle, but also heat exchange, as well as forming the Earth's relief.

Key words: hydrosphere, water circulation, surface and ground waters,
irrigation.
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OCHOBHBbIE BOIMPOCbI 9ddhEKTUBHOIO UCMOJIb3OBAHUA U
BOCIMPON3BOACTBA BOJHbIX PECYPCOB

ABATAH MAPTUH

Llokmop cenbcroxosaticmserHbix Hayk, npogbeccop [TY ,
Hexan pakynsmema ecmecmsosHarus [TY

Bopa ABnaetca Havnbonee pacnpocTpaHeHHbIM HEOpPraHUYeCKUM COeAUHEHVNEM
Ha 3emne. Bopgbl, Bpe3ynbTaTe MOCTOAHHON  LMPKYNALMUMW, B3aUMOCBA3aHbI MO
cnepytoLeit cucteme: okeaH - aTmocdepa — Cylla-okeaH. Bopgbl MupoBoro okeaHa B
pesynbTaTe MOCTOAHHOTO  [IBUMEHWUA HAXOLATCA  BO B3aumocBA3W. B rnobanbHom
macLuTabe pa3nuyarotca 6onbLUas v Manasa LMPKYNALUN BOA,.

Bopa ABnAetcA  BamHelwnm  DakTOpoM,  ONPEAEnAoLMUM Knumat 1
noropy, PerynmpytoLiuM He TONbKO KpyrosopoT BOAbl, HO W  TennoobmeH, a
TaKkme hopmupyroLnm penbed 3emnu.

Knrouesble cnosa: 2udpocthepa, yupKynAyus B800bl, NOBEPXHOCMHbIE U
nod3emHble 800bl, OpouweHue.
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